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QUESTION 1

Which of the following is not an indicator in the disk information monitoring of eSight? 

A. Disk name 

B. Health status 

C. Installation status 

D. Hard disk usage 

Correct Answer: D 

 

QUESTION 2

Which of the following statements is incorrect about the data center service migration scenario? 

A. Services are migrated from traditional data centers to cloud data centers. 

B. Traditional data centers are taken over by cloud data centers after being cloudified. 

C. Services are migrated from the existing cloud data centers to other cloud data centers. 

D. Services are migrated from cloud data centers to traditional data centers. 

Correct Answer: D 

 

QUESTION 3

Which of the following topologies are supported by OperationCenter? (Multiple Choice) 

A. Physical topology 

B. Logical topology 

C. Service topology 

D. Network topology 

Correct Answer: ABCD 

 

QUESTION 4

Which of the following is incorrect about the eSight software installation scenario? 

A. Pre-installation 

B. Brand-new installation 
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C. Incremental installation 

D. Full installation 

Correct Answer: D 

 

QUESTION 5

Which of the following statements is incorrect about the VM VNC login? 

A. TightVNC depends on the Java (TM) plug-in. 

B. noVNC does not depend on the Java (TM) plug-in and cannot restart and stop a VM. 

C. A 64-bit browser can run the 32-bit Java CTM) plug-in. 

D. The drive management function of noVNC depends on the Java platform. 

Correct Answer: C 

 

QUESTION 6

eSight uses the C/S architecture. The eSight client can access the eSight server anytime anywhere without installing
any plug-in. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 7

OperationCenter can be deployed only in single-node mode. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 8

Alarm sounds can be set on OperationCenter. 

A. TRUE 

B. FALSE 
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Correct Answer: A 

 

QUESTION 9

Which of the following is not the challenge facing the data center service migration? 

A. Business continuity 

B. Stability 

C. Complexity 

D. Resource utilization 

Correct Answer: D 

 

QUESTION 10

To allow FusionSphere OpenStack to report alarms to FusionSphere OpenStack OM, configure the domain name
resolution information by logging in to FusionSphere OpenStack web client and configure DNS resolution rules. Choose
System > DNS and add DNS rules. The domain name is local-oam.domainname.com. Which of the following is the IP
address? 

A. Fixed IP address of the active FusionSphere OpenStack OM node 

B. Fixed IP address of the standby FusionSphere OpenStack OM node 

C. Floating IP address of the External OM plane of FusionSphere OpenStack OM. 

D. Reverse proxy IP address of FusionSphere OpenStack External_API 

Correct Answer: C 

 

QUESTION 11

Storage devices in FusionCompute need to be scanned. These devices refer to physical storage devices, such as IP
SAN, AdvancedSAN, and NAS. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 12

What components does a complete backup system consist of? (Multiple Choice) 

A. Backup servers 
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B. Media servers 

C. Backup clients 

D. Backup users 

Correct Answer: ABC 

 

QUESTION 13

During the installation of ManageOne ServiceCenter and Operation Center, which of the following operating systems
should be selected? 

A. CentOS 

B. Red Hat Linux 

C. Windows Server 

D. SUSE Linux 

Correct Answer: D 

 

QUESTION 14

After a host enters maintenance mode, stop or migrate all VMs on the host, and then perform maintenance operations. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 15

Which of the following statements about backup is incorrect? 

A. Backup helps retrieve lost data; 

B. Backup helps recover damaged data; 

C. Backup helps find historical data; 

D. Backup ensures business continuity. 

Correct Answer: D 
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